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BT T2 MRl T8 T =% BT % Mg T8 T =%
HX 41,105 85,802 40,819 44,983
RIRET1T 6 14 8 6
RIRET2T 26 57 28 29
RIRET3T 178 576 279 297
RIRET4T 420 941 467 474
B 630 1,588 782 806
REH 2814 6,150 2,884 3,266
L&A 4,412 9,328 4,364 4,964
5E 2,688 5,813 2,788 3,025
B AN 1,358 2,879 1,354 1,525
BERT 1,416 1,929 937 992
BER2T 956 1,706 829 877
BERST 783 1,985 957 1,028
B 3,155 5,620 2,723 2,897
BEXRE 300 653 310 343
= 2,195 4,701 2,236 2,465
hERE 620 1,343 619 724
aE 2,445 4,937 2,370 2,567
25 L ET 2,335 4,900 2,339 2,561
B &AL BT 73 138 56 82
HEFILET1T 568 1,200 548 652
HEFILET2T 612 1,209 578 631
HEZFILAT3T 739 1,680 806 874
g 1,992 4227 1,988 2,239
B & it B Fr ET 681 1,479 712 767
BHEREBET1T 592 1,182 577 605
BHERERET2T 764 1,668 806 862
BHERERETST 784 1,563 719 844
BHERERET4T 554 965 451 514
HEKERETST 851 1,661 797 864
HEERET6T 920 1,871 894 977
BHERERET7T 930 1,852 899 953
HERERETST 72 198 95 103
£t| 5467 10,960 5,238 5,722
HEF R FET 1,981 4,015 1,952 2,063
S|EFET1T 662 1,583 788 795
S|EFET2T 790 1,728 822 906
S|EFET3 T 756 1,354 612 742
g 2,208 4,665 2,222 2,443
ERE1T 599 1,308 635 673
EIRET2T 391 1,022 503 519
EREIST 519 1,284 630 654
EIRETAT 685 1,396 610 786
EIZEIST 540 1,175 577 598
g 2,734 6,185 2,955 3,230
M EFHE 2,977 6,165 2,896 3,269
J\THET1T 35 37 16 21
J\THET2T 25 48 23 25
J\THEI3T 53 109 48 61
B 113 194 87 107
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